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• Q1. Statements:

• I. Some cats are clouds.

• II. Dog is a cat.

• Conclusions:

• I. Some clouds are cats.

• II. Dog is not a cloud.

• (a) Conclusion I follows

• (b) Conclusions II follows

• (c) Either conclusion I or II follows

• (d) Neither conclusions I nor II follows



• Q2. Statements :

• All bags are chalks.

• All chalks are bottles.

• Conclusions :

• I. Some bottles are bags.

• II. All bags are bottles.

• III. All bottles are bags.

• IV. Some chalks are not bags is a possibility.

• (a) Only I, II and IV follow

• (b) Only I III and IV follow

• (c) Only II, III and IV follow

• (d) All follow



• Q3. Statements:

• All girls are dolls.

• All dolls are sweet.

• Conclusions :

• I. Some sweet are girls.

• II. All girls are sweet.

• III. All sweet are girls.

• IV. All sweet are dolls.

• (a) Only I and II

• (b) Only I III and IV follow

• (c) Only II, III and IV follow

• (d) All follow



• Q4. Statements:

• Some doctors are fools.

• Some fools are rich.

• Conclusions:

• I. Some doctors are rich.

• II. Some rich are can be doctors 

• (a) If only conclusion I follows

• (b) If only conclusion II follows

• (c) If either conclusion I or II follows

• (d) If neither conclusion I nor II follow



• Q5. Statements:

• No bat is ball.

• No ball is wicket.

• Conclusions:

• I. No bat is wicket.

• II. All wickets are bats is a possibility.

• (a) If only conclusion I follows

• (b) If only conclusion II follows

• (c) If either conclusion I or II follows

• (d) If neither conclusion I nor II follow



• Q6. Statements:

• I. Only cities are towns.

• II. Some cities are villages.

• Conclusions:

• I. All villages are towns.

• II. No village is a town.

• III. Some villages are towns.

• (a) Only conclusion (III) follows

• (b) Only conclusion (I) follows

• (c) Only conclusion (II) follows

• (d) None of these



• Q7. Statements:
• All doors are buses.
• All buses are leaf.
• No leaf is a flower.
• Conclusions:
• I. No flower is a door.
• II. No flower is a bus.
• III. Some leaves are doors.
• IV. Some leaves are buses.
• (a) None follows
• (b) Only I and II follow
• (c) Only II and III follow
• (d) All follow



• Q8. Statements:
• No Spiderman is Superman.
• No Superman is Batman.
• Some Spiderman are Batman.
• Conclusions:
• I. No Batman is Spiderman.
• II. No Batman is Superman.
• III. Some Supermen are Spiderman.
• IV. All Batmen are Spiderman.
• (a) None follows
• (b) Only II follows
• (c) Only II and III follow
• (d) Only I and III follow



• Q9. Statements:
• No whatsapp is instagram.
• No instagram is twitter.
• All twitter are Facebook.
• Conclusions:
• I. No twitter is whatsapp.
• II. No Facebook is instagram.
• III. No Facebook is whatsapp.
• IV. All Facebook are twitter.
• (a) None follows
• (b) Only I and II follow
• (c) Only III and IV follow
• (d) All follows



• Q10. Statements:
• Only a few doors are buses.
• No buses are leaf.
• No leaf is a flower.
• Conclusions:
• I. All buses are door is a possibility.
• II. No flower is a bus.
• III. Some leaf are  not buses.
• IV. Some doors are not buses.
• (a) None follows
• (b) Only I , III and IV  follow
• (c) Only II and III follow
• (d) All follow












